TS SET

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Subject Name : POLITICAL SCIENCE
Duration : 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
Examiner permission :
Show Progress Bar? :

Group 1

1
51714472
0

180

No

No

0

300

No

Cant View
No



Paper I

Section Id : 517144143
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144440
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 51714410806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&mﬂééoéuﬂgméﬁ "egfnodh ararddeiin” edne RE

Options :
The physical location of an institution.
;‘30@ 88 408

1. #

The number of students in a classroom.
S85885 Sjmgfﬁm}@ 208y

The arrangement of furniture in a classroom.
SBEHAS PSS @sHdE

The overall context in which learning takes place.
4 CIALRSIA W 260 Snexn Slelals\ENYY

Question Number : 2 Question Id : 51714410807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
T SEE8 g O HBS e %;oméjﬁ &0£006

Options :

Elementary education

|y EREDE 05

Secondary education
{?Jéédﬁa DeSg

2. %

Tertiary education
- é@édﬂ; ATl

VVocational education
L% éejga; 3]635

Question Number : 3 Question Id : 51714410808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
2H85 EHsd, &m@iﬂﬁg@ FHe Sotsy HBDYE SBgen 28D ‘Q@D

Options :

Virtual discussion boards
H’}iﬂaeﬁﬁ o™y éﬁiﬁaﬁm

Online chat rooms
, w OOBS §ot5 Hiben

Social media platforms
s S Vlala S68en

3. ®



Face-to-face in the classroom

. B85S KOS® Sogr H0d

Question Number : 4 Question Id : 51714410809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?
3000 (58 G (FRFNE Ha 267

Options :

Offering degree programs online.
©S888° & seyEKwe (HSarSS

1. ®

Providing paid specialized courses.

, » D00 (5858 E°8nen DomyEn Bcsned

Broadcasting educational content through TV channels.

Lo O ) oo Doy DHATRY (BHRBo Dok

Conducting in-person workshops and seminars.
oo Sdyarden, HEknen JBeroihe

Question Number : 5 Question Id : 51714410810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
080 (Hen, HEHE eEdmen, HSBNDHS (HArRKFOD B8 soeieSes

Options :
Traditional teaching methods

rolmrchy &5ae SGEen

1. #®



ICT-based assessment tools

- ICT- eaeBef 50H0) VD NED

Qutdated educational technologies
, % S©03085 Doy FoBAESen

Non-interactive resources

L% ‘éé@ﬂéiﬁ 2Ben

Question Number : 6 Question Id : 51714410811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
(DTrree)E $588%55% b

Options :

Observing and describing phenomena without intervening

. éﬁégp S0E o cﬁE‘}E DLore H84ed D58m
1.

Manipulating variables to establish cause-and-effect relationships
586 [Hgrs Homogreid oirofiohed Serodreid A vleh)) Do

Conducting surveys and interviews to gather opinions
of)arch DESes éé&@:}, B0€8rgen ABEroHE

Analyzing historical documents and records

4 % TBErEs dEre, bshe AL )

Question Number : 7 Question Id : 51714410812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Post-positivism in research suggests that:
H5BE°HE" Yy rRBDud SrdHoDHds

Options :

Objective truths can be directly accessed without the influence of human
perception.
AspEors Derei,srds (Horen €8 Bowe (DegBore Zﬁﬂﬁézﬁa@.

Subjective experiences play no role in shaping research outcomes.
588080 Hhere dﬁﬁ}éa}n}eﬁéﬁ HEars wigfare arEd Gotth

2.
While objective observation is important, researchers' interpretations also
matter.
. R Eares 5848 S0ggad, 58806550 DHBmen Eri araioggd Seraron.
3.

Research should solely rely on abstract theories rather than empirical
evidence.
508858 CRVEAR Lo i}ﬂggcfm_;'_._} 58006, woliisr E}@;D@ﬁ@?ﬂ Eots

4 % SEIED.

Question Number : 8 Question Id : 51714410813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
g OB SSded® DRairbao odmr

Options :

Using too many references in a paper
2.8 mﬁﬁa’méﬁ TPET GOPUEEe GaGimiian

Quoting a source directly without citation

- DOPH0 SO [BSgEorr DD TPt

Rewriting someone else's work in your own words

3 % 538 dgBe HIN & "é&oéémﬂa}ﬁﬁ A0A [geciné



Properly citing sources to give credit to the original authors

. wden e MEardd HOHe HSorr etsirdothes
4,

Question Number : 9 Question Id : 51714410814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2. H085570 aﬂééoéﬁ Deereen Hrsoren (Esvan 8.
Options :

Methods, Introduction, Results, Discussion, Conclusion, References
a.”:ur‘,gé)m, HBSchsm, Hheren, I8), dwAo, égﬁa}é@a

1. ®

Introduction, Methods, Results, Discussion, Conclusion, References
) HBBcHm, a’;ge‘ﬁo@, PDsren, 3G, Hwho), égﬁméw

Introduction, Conclusion, Methods, Results, Discussion, References
3 % HBBcHEm, dwho, égéj@, POeren, G, égﬁiaﬁé@

Results, Methods, Introduction, Conclusion, Discussion, References
L% Baren, éaﬁmeﬁj@:}, DHBSchen, swhozy, S8), ﬁﬁa}éﬂa

Question Number : 10 Question Id : 51714410815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments" section in a thesis?
é'f;m;oé aﬂér‘ﬁa’m@-tﬁﬁ gﬁjé%@ﬂ} Derpldn @558

Options :

To list all the references used in the research
58885565 éﬁm%’a@ el St Do



To introduce the research methodology
588%5E 5N HBIScHo Vasne

To acknowledge and thank individuals who contributed to the research
588855 %5{253&56 é@@@otﬁﬁé hBod), Higaroren denshi

To present counterarguments to the research findings
588555 HDerod HaEroTEHen Baine

Sub-Section Number : 2
Sub-Section Id : 517144441
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410816 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow
Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
HEVE: 1Bod adbd Sdrordo egedore Q. 11&08 Q. 15 (HEeEH Srgeareen

[secob.

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the
mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

QB35 YPE6 @) S0, Hrth woShe IHE KrES DFEHS S50, 1700 &°
ABoSatod. =b HE26 @{‘;‘5@5 CotH DY oSS BE DGy 0. g0 Snoth 58
DS’ orrlndd of) HocH DipSed SOAS ard wof oF) Béy DBran
3080k oed) FiE Trrr DN Db wbdn Seden BOAS a8 &) ey D&
D58 K80 Fyre Hohod. NET 08 B =DEorond® Eréd DS SKE art.
K& 1B s, 31}@5 @55 sogech snoth Sendd ﬂfﬁ}h‘)@“m}. 508 Haroe
(355 o0& ey InSB BUoR B (Eronoh Er&Hws®s atigder Vdysrow.
So&BE DI aAden GT700. JA% Bendpen ooe w0 FihoE &) SPereite
53¥0 &ob.

Sub questions

Question Number : 11 Question Id : 51714410817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
STDQE oB3ezb ﬁgiﬁE rﬁné@ HHHo arsd b

Options :

stately
KoDEHHB.
1. ¢ et

in ruins

, % 360D



uninhabitable
ﬂm;‘@cﬂ:ﬁ%o 26

inhospitable
4 8% ©S8803G

Question Number : 12 Question Id : 51714410818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
gRvo &b ﬁﬁé@iﬁ&)&@ﬁ)

Options :
red stone
| % o8 orom

sand stone
5 % 208 TPOD

wood

3 ¥ aégj

stones

4 % TR

Question Number : 13 Question Id : 51714410819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of

e PFowo DB &® Dol &oh
Options :
grass

tale
1. o G



wilderness
&atﬁcaéo

low trees
D%y e

flowering pots

4% e Boden

Question Number : 14 Question Id : 51714410820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
2.8 g3 &) iy &8 étﬂa&@voﬁ.

Options :
garden

1. % &5

courtyard
, % [(@roifeso

dining room
- Hhesarer KB
office
4 % SHeENDleWe

Question Number : 15 Question Id : 51714410821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The word that means- "wide' in the above paragraph is
2 Do Dol @ @go aﬁﬁtz, Slale

o o

Options :



Extensive

Dt
L& TR

circumference
ﬁjé,%g%“@e‘_ﬁ

dimension
3 % 2050

uncommon

4 % SRV aLlelsE

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

3
517144442
Yes

null

Question Number : 16 Question Id : 51714410822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
communication prevents misunderstandings and helps in

A

establishing a constructive relationship

Eorg8aS oTrTod Jardhod $8dn JogemrdE Somoged)) DBYBStos®

et CHHEHEDOH.

Options :
positive

L eingre
passive

5 % gnga@pﬁ:.
reflective

3. %
retentive
oedes 88 He

4, %

&3 wsbsnsd Kras



Question Number : 17 Question Id : 51714410823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
AR At CEALRS (BaHS? (Ko e56%50 éa’)ﬁga’}{;é@é
G (e te)
Options :

stress management
a6 DT

listening
" DVEE Sa)esgo

crisis management

‘éogfe,‘ﬁ QBT

time management
QeAH VBgsTee

Question Number : 18 Question Id : 51714410824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Successful intercultural communication depends greatly, when one
other cultures.

=late! ﬁoﬁ;&é)@:;g_ Sotsto Hed, @Déﬁ&@é&@ Dogras ©8inbsen
B0 FiHEod
Options :
praises

| x B¥03

respects
2. o aigelle)



practices

lARY

3. %

belittles
{'.}56& YY)

4. %

Question Number : 19 Question Id : 51714410825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
E‘%ﬁt’n SgEen 2.8 VAT DPnore SraRdND, @8 SH JHraroes
m&@?&é@d}, AWLEAL @0l @otrth
G
Options :

Psychological
L% VSIS EV iy

physical
RIS

emotional
epvﬁﬁﬁ%ﬁ

perception

. 9B oTo

Question Number : 20 Question Id : 51714410826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

‘Twitter’ and ‘Linkedin’ are examples of media
‘ﬁé&gﬁ H0Bd5w ‘80%5 : SoegssrO8 Surseeen

Options :



social
PSTeRs

digital
&8

Print
s00|Ehes

Traditional
R0[RTPANE

Question Number : 21 Question Id : 51714410827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,

Options :
| % 19020

, 19200

19220

21120

Question Number : 22 Question Id : 51714410828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, ___, SSG, XUD

Options :



| % MPI

Mal

NPJ

NQJ

Question Number : 23 Question Id : 51714410829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2,8 D0 56 272 KITE @3 HEER)) 45671 000N RATE @0 Q)
8967 86 TR, & 2 TAKE @3 Q) der 86 D

Options :
6974

1. #

6794

2. %

3 ¥ 6479

6947
4. %

Question Number : 24 Question Id : 51714410830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis____

DO DowEED 2:7 ANIBES’ &) oW, (983 2053¢3 12 DODIL s,
OSSO [cHed OO BOCsed DO VA 1:3 @308, BOcsad
OOPE__ ?

Options :

% 84
, x 112
, x 126

, v 168

Question Number : 25 Question Id : 51714410831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is

16 SWI® B S 12 SHNYO @60255) GGZL DaITI0 N, e°e)
Fred0

Options :
| % 16.66%

5 % 20%

25%

0,
. 33.33%

Question Number : 26 Question Id : 51714410832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

ESRTATMV DS

TGO DG T,

50 Foen H8 s@ren.
Conclusions:

l. All hills are ropes.

Il No hill is rope.

1. Some ropes are definitely hills.
E@{Fgﬁ'ﬁnmz

. S0GO) =9.

Il.  §°0¢ 5T & 5.

1. §Q) &0 D)o Focsen.

Options :
| follow

Either | or Il follow

2. %

Il follow
3. %

Either Il or Il follow.
4.

Question Number : 27 Question Id : 51714410833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 08 Jerstdend) KBS WS’ 110 08, KedesocS’ 120 HOO
DTEeEEN ONEOATT R, BOR ST’ 30 HOO Dshen
DOV . 55136 050 Veshen DN 2.8 HJPS
POVSOATLEN?

Options :

L% 120

, » 160

5 % 140

4 % 180

Question Number : 28 Question Id : 51714410834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father's only daughter-in-law’s brother related to me?
ST YT 2,85 EY 5 55038 T80 aroisgo Dabed?

Options :
Father
% %ol

Paternal Uncle
Ejﬁﬂaﬁé&

Maternal Uncle

| o Seaty

Cousin



Question Number : 29 Question Id : 51714410835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

SREO ROGBONM LD @5 6725 D5G0 ©hdraedd 00O S
1806 a7¢36S DBIO IO AE?
Options :

Linga/Sadhana is the middle term
Do rSd @36 gy 5o

1. ®

Paksa is the minor term
28, A &KJC;«L 280

Sadhya is the major term
3 ® PG ©I0 [Heed Do

Hetu is the minor term

& @26 5)?6& b5Tnle
4. ¢

Question Number : 30 Question Id : 51714410836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is true with respect to the first figure of categorical
syllogism?
5% Gea TINEY TEES @O0TE H0DOHOD & 120D 5783 DO Hebs0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise

SDEE D0 T (DTS (Hbdbo TB0E) @0F0 HBO DS e85

L C30E) (arSredso



The middle term is the predicate of the major premise and subject of the

minor premise
DEE D0 @A D) (Hibdho OBNE), (DT 36585 DO a6

o % OB0E) el
The middle term is the subject of the major premise and the predicate of the

conclusion
DS D0 T (DT TG0 HNOAW S0H0Y OnE) e90do

3. ®
The middle term is the subject of the minor premise and the predicate of the
conclusion

4% S0 DO 2RO VX)) Hhdbo SHBAH SN0y G3nE) @050

Sub-Section Number : 4

Sub-Section Id : 517144443

Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410837 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
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In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.
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Which of the following is the maximum?
806 3¢365 56RO DO?
Options :
Number of female students in chemistry department
L& 3[R derroes SHsrer darzhe Hows

Number of female students in Botany department
5 v SR Do Hre dorde Hows



Number of faculty teaching Management
& DR DOS e300 5rs5e) o

Number of male students in chemistry department

L Q) Do ouif Deezdher Hows
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23068 R (Parered) dmrien 0¥ s Er. 2,857,808 25,000. (Ded
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zooclogy and languages, after rounding off the
respective totals to nearest 1007

#3650, 225 SHOGI T Q) O Dsthes Hows, Serd), ararersd
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In which Department is the ratio of faculty to students, the lowest?
PEHEE HOAY VT DAY ) DarHoeS e9essed 10T G0H?

Options :
Botany

| & POEF(QO
Chemistry

) @&1[_%}

Language
3 % AR

None of the above
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?
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ASCII stands for ?
0. GDHR. H. 2.5 ede
Options :
[ American Standard Code for Information Interchange

5 % American Standard Code for Information Interaction

- American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
& BHH éo@eﬁﬁ OB (2365 IeSHB |

Options :

Internet
1. #

) o Intranet

; » Ethernet

4% Hypernet
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e-Granthalaya is a digital platform developed by the ........
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Options :

Ministry of Education
Alapatlelithive

Ministry of Finance
@gé 300(B&0

2. ®

Ministry of Electronics and Communication
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Ministry of Mines
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RAM means ........
ool edre

Options :

Random Access Memory
1.v

Rapid Access Memory
Remote Access Memory

4 % None of the above
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Which is an example of a cloud-based file storage service?
&5 QB8 DB s eagrds %ﬁﬁaﬂ 5% sordtes?

Options :

Whatsapp
Mozilla Firefox

3 ¥ Dropbox

4% Instagram
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The target year for achieving the Sustainable Development Goal is...
QB @é’,)ée:,% oFs S AT =Y ﬁj@?}%é LoRéBo

Options :
2025

, o 2030

, % 2035

2040
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Which of the following statements is true about global warming?
(5503 DBMHE® K HIHD @ (HAFED HBFHH?

Options :

Global warming has led to large scale deforestation

[HHoS 3B G 8BS @0 O R 682086
1. ®

Global warming has led to a rise in the sea levels

5 (D303 AL [ 5;0:1}@ 2HHseH bl

Global warming has led to a rapid increase in the population across
several countries

- (HPH0S S8 DG BFed® morgr JHod DHIHELH TBRZHE



Global warming has led to a huge amount of waste generation

. (H%0S B geb Do &HBE >88208.
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
ALV AT HB8arrre éﬁ}éﬁéﬁ. BEEED éﬁoi‘l BVt eaﬁﬁngéi‘& £
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Options :

Carbon monoxide
5?@5 aneeG
1. s

Carbon dioxide

5 % Y0 @ s8)6

Sulphur dioxide
- Senb @ u8)E

MNitrous dioxide

L% SR e8E
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The National Institute of Disaster Management (NIDM) was established
] | R

erBah DD Vs D0y P00 a6

Options :

September 23, 2002
?3%03353 23,2002



August 14, 2001
@ﬁ@ 14,2001

October 16, 2003
; » St 16,2003

August 14, 2004
Pjﬁ% 14,2004
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Where was the first International Earth Summit held?
B ilals) @Deﬁtﬁ;e@cﬁj g 8goe SErSFo 2BAD ﬁmﬂ:ﬁo
Options :
| = Kyoto

" Rio de janeiro

New Delhi

3. %

New Yark
4, ®
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What do you mean by ‘Shastras’?
Fo|ren @dre

Options :

Creative literature
Daard)E Jrireso
el [



Learned disciplines
Y, 805 B°(en

Imaginative
éaﬁééé

3. %

Creative and Imaginative

g % ErSE, &PEE
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Who was the chairman of NEP 2020 drafting committee?
.30 2020 Snronte eifHitd IS ?

Options :

Kailasavadivoo Sivan
1. #

Dr. K. Kasturirangan
2.¢

Prof. Yaspal Sharma

Prof. G. RajaGopal
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Which of the following learning programme originated in India and is considered
as one of the oldest?

20805S° (DBofokad, HoSHHEBMT HBKBoNE egrsd seEgEhdn 06 ?
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Law
at;gciﬁj GRS

Fine Arts
) x ©DE E¥en

Ayurveda
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Management
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Which is a solution to reduce the progress of climate change?
arErdtes SE) aﬁe*:,c‘gﬁﬁ ég@ﬁ)ﬁ}é} a’zﬂﬁwﬂﬁ)&

Options :
Greenhouse Gas
. 2y® 2ol araing

Wind Power
) I8

Deforestation
TN K}éﬁgﬂé

Fossil Fuel
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
20835&%D (5850ess, @’}éﬁ)éﬂg&sé ﬁo‘g@, ‘éjﬁé 8580, & S Doy DG
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Options :

Resource model
| % DBe dorrare

ltinerant model

L o Ol St
Both Resource and Itinerant models
oo snbdin A8 Ssrar
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Dual Teaching Model
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Assertion (A): Liberty involves within itself both the individual and social
sides of man'’s existence.

3PN (A): 5L 9B DA E8 TI0E) 9:8ies B
aP228 2Ty 500 500 Soenod

Reason (R): Liberty means the absence of constraints and not the
absenceof restraints and limitations.

266 (R): 509) @00T) @938 e BEFIET 55 Ao
B0 DBehen BEESEI0 D

Options :

(A) and (R) are true, (R) is the correct explanation of (A)
(A), (R) Dot DADEM™ OB, (R). (A)d0 OB eSS

\;‘4)

(A) and (R) are true, but (R) is not the correct explanation of (A)
, % (A). (R) Do DED&T DBRT, 5 (R) (A) B0 OB DG 520

(A) is true but (R) is false
(A) 2,590 5% (R) &)

3. ®

(A) is false but (R) is true
(A) €553 S (R) 2563
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Who among the following termed right to life, liberty and property as natural rights

and the main function of the state is to protect these natural rights of the
individuals?

20T 50, W), SUQ T2 JTHLOR), 550 QRE) &1 Do
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Aristotle

edre3d

1. #®

Thomas Acquinas

Tram @8 5o
2. %

John Locke

2T €75
3. %

Frederic Hegel
4 % 05 O
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Who among the following said that "injustice arises when equals are treated
unequally, and also when unequals are treated equally.’?
806 065 D5 NN eSSFIOT HOHES0DNN I eorrsaHo
23BMNH N0, @SN DAFNOTT DO DN I S eomraho
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John Rawls

1 ® Fors] Fﬁ Ejnxﬁ..\_:.

Aristotle

- byl e3S

Cicero
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Gandhi
mod
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Match the following kinds of equality List-1 with their respective explanations List-I|
806 DTG & S (eFd)Er-1) a7e3 Ho0H S DSBS (2rd)er-I1)
22505 04:

List-| List-1I
ed)er-| e )ee-l|
(Kinds of equality) (Explanation)
(Re33°03¢€% $0 G5°eD) (22036€3)
a. Natural equality 1. no discrimination on some artificial ground
a2 APIES §O ') Soleded 0T &GN DS
LB CICN
b. Social equality 2. distribution of national wealth
FTe3E $edreaded 50 23O DONE HODES
c. Political equality 3. nature has made all men equal
23805 DeSeded £0 19598 DDDOO0BOR N3N0 TR0
d. Economic equality 4. equal penalties on everyone violating law
e30¥ HaiTeded co DI GDONOT [Ded 2,503 3T
230370 ew

5. access of everyone to the avenues of power
0 HTS SPTOLD (263 2.83.08 |H3¥0

Options:
oJoagen
Options :

a-3 b4 c-1 d-2
1. %

x a2 b3 cb d-

2

a4 b-1 ¢5 d3
3. %
Lo @3 b1 5 d2
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Consider the following in relation to the Liberal political theory and choose the
correct code:
&S T80 TP0TRE N02060D 180 3R HBKeIo oS
B0 SBN TR JotvEo&:
A. It places the individual and individual rights as the highest priority
QO 0358 OO 0358165 aTH0) 0N e0ed Y TN BT 0T
B. It relies on the consent of the citizenry for the legitimacy of government power
AR (92065 § 9HSG0 TWBE) WILDRES TR0 DO Nalded D)
33" G000
B. The ideas of natural rights, liberty, and property are the bedrock of this theory
D23 $TEILED, L) OO0 et &S ISeD & DT 0TRE HTO
D. It believes that humans are not rational, they should be guided by the
government inputs to make their choices
ST ED TlENDCVED TEA), D TR D0DEOE 202065 ¢ DDy
o or SrEATF0 DAHATOD IO DF N0

Codes:
g Gen:

Options :

A, B and C only
| » ABOAD C ST 5D

A, B and D only
A, B 0005 D S(edad
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A and C only
A HOOID C 53753

3. %

A, C and D only
A, C B0 D o575
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Read the following statements regarding ‘Conservatism’ and choose the correct

code:

"B sy 0” (8658 £¢3230)8 H0220H0D 806 T iwercdd tiEdS05

HBOIW ABD TG doTHFoA:

A. Conservatism rests on what may be termed particularist scepticism concerning
abstract rational principles.
G330 Qard0 @R 0 BEFDS TreRDGRN AFEEOE D0DOHOD)
1033837 DOFONTH0 @ DONDE TR STBHDG G0LN0D

B. Conservatives regard rationalism as "metaphysical” in ignoring particular social,
economic and historical conditions.

SR Qarrtnen TR (0888 Araired, esf¥ SHB0kN b ehs
DOV DIIBOT " e9HeT L0 HDONEST .

Codes:

gGewn:
Options :

A only

A S5
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B only
- B 5350

Both A and B
- A D005n B Bodar

Neither A nor B

, x ABB S
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Read the following statements and choose the correct code:

oA e A BN §FHD JotHE0dk:

A. Multiculturalism is a position that rejects assimilation and the "melting pot”
image as an imposition of the dominant culture.
2TVFT 009838557750 9B E DANEGED HBAN “(EIDISI” DEER)
e300 D0 TBNEY DO 33000 0.

B. Multiculturalism prefers such metaphors as the “salad bowl” or “the glorious
mosaic”, in which each ethnicity in the population maintains its distinctiveness.
2STVFRT0N), YBETI0 “DerS 50" S “NO0HD Jwerans” 50¢3
EFPHTO DR, BAS 23772 R 1 2763 TR (DS 55D
§OR 50eN0d

C. Multiculturalism regards rights cannot simply be subsumed under human rights

because human rights standards are simply unable to resolve some of the
most important and controversial questions relating to cultural minorities.

2TV 08I0 [D5E0 37802000 BoI®0 o356 T E0)e 805
T80 20 SN DOHE0T) BP0 9o E oD e3eE) H00B0DD
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A only
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A and B only
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A.BandC

A, B 2000k C
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B & C only
, B&C ST S50
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Which of the following is charged with being anti-political and unable to take an
ethical stand, except that of resistance, disobedience, refusal, or deconstruction
for deconstruction’s sake?

106350838, @ATOANES, 380G B OO T°2690 TN YD) T80
WSS TPR80D ;BT Eeh, TE IDOR SNTSED IS0 5063
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Options :

Feminist theory
5 o
| eI POES0

Neoliberal theory

- QO GO RETo0

Neo Marxist theory
3 % QOOD° S0 )R VF0S0

Postmodern political theory

v e300 To2380H DT 0S0
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Who among following argued that in all known societies’ relationships between
the sexes have been based on power, and that they are therefore political?
SOV @) DSrarO S DOTPe DEE H0DOFTEY OSSO SFTONG
S ODA), Y 09 TrRL0NOM G0Erad 808 86T DsS% TEOTTE?

Options :

Elena Rybakina

. DB BarSor
1.

Kate Millett
, 35085



Friedrich Engels

08 Jofid)
3. %

Jana Novotna
BT S )
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The following is a new political ideclogy based on the position that the non-human

world is worthy of moral consideration, and that this should be taken into account
in social, economic, and political systems:

&3 8000 AR (D000 Bed T IBINEN @0, ardrs2s, esds,
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Read the following statements in relation to the Plato’s Republic and choose the
correct code:
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A. Itis a textbook for the Philosopher-Ruler’s training.
26 e tE-rerdoe) 28 §ho 28 ardyQgo

B. There would always be Guardians-in-training in the Plato’s state, and
preserving that training unchanged would be the state’s first priority.
D 0023506 DY 1T TFOOD D I-ASH BIDON S0P HBA es
25 2000 SRS IEV0GE SIS 0 TPe3s0 TBNE) JINGES o sedme
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C. The aim of that training is to produce just men in the double sense that Plato
understands justice: men who are in fact just and who know what justice is.
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D. The less difficult subjects of literature, mathematics, music and gymnastics are
followed by the most difficult subject of all, dialectic, or training in philosophy.
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Which of the following are considered as the degenerations of Plato’s Ideal State?
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A. timarchy
335°0),
B. oligarchy
2.Omd)
c. democracy
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D. tyranny
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Assertion (A): Aristotle’s chief contribution to political science is to bring the
subject matter of politics within the scope of the methods which he
was already using to investigate other aspects of nature.
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Reason (R): Aristotle the biologist looks at the developments in political life in
much the same way that he looks at the developing life of other
natural phenomena.
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(A) and (R) are true, (R) is the correct explanation of (A)
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(A) and (R) are true, but (R) is not the correct explanation of (A)
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(A) is true but (R) is false
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Aristotle’s book of ‘Politics’ contains:
0073 S TBNE), eI T HRAEOS QY Gor) on:

A. Defence of the polis against the Sophist view that the polis exists through
convention only.

DD EHO0 HONTON0 ©F BAES &) FDHY o) EPoDOSE
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B. A justification of slavery as part of a well-managed household, and therefore
natural.
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C. A discussion of the relationship between the acquisition of wealth and the
management of a household (the original meaning of ‘economics’).
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Which of the following books are written by Machiavelli?
806 6365 JFEOTFRE) Tv RS HATED DD?
A. The Prince
AN
B. The Discourses on the First Ten Books of Titus Livy
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C. The Art of War
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Men living without law in State of Nature, would be men not trusting each other is

the argument of one of the following:
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Who among the following considered that ‘morality existed in the State of Nature
and was capable of being enforced there, perhaps imperfectly, by the voluntary
actions of men, it follows that social contract is an extension of that pre-existing
morality’?
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Which of the following is not matched correctly?
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Options :

Hobbes: Leviathan
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Locke: An Essay Concerning Human Understanding.
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Rosseau: The Confessions
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J.S. Mill: Two Treatises on Civil Government
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Read the following statements regarding J.S. Mill and choose the correct code:
J. 5. 0O 8 J020H0D 80D T WL TS0 DO DB §BD
DOTHE0G:
A. Mill thinks that social democracy is good in itself as well as having a good effect
on government.
APe307228 (2T e SO D 5563 DODNN eerT (23250655020 oD
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B. Social democracy in a system of proportional political representation is the ideal
ground for the practice of liberty.
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Consider the following in relation to the Hegelian philosophy and choose the
correct code:
W TONS Derdns 020600 (80O °¢3 DONHEIOIOG SHOO DB
&0 oTHET K-
A. History's rules, and mind'’s rules are dialectical rules.
290|e5 Q08 AODITTED DO D) C3WE) VaLITeD fHesed) 8
MOMVINVISY
B. The rules of historical change and the rules of intellectual method are
contradictory in nature.
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C. Dialectically operating minds can be perfectly attuned to the understanding of
historical dialectic.
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Assertion (A): Hegel thinks that the present does not abolish the past but
completes it.
DTS (A): 585700 HErdy B TAHED 570 J*O TNOBR TFNeS
ARATC RN
Reason (R): According to the Hegelian thought, constitutional monarchy re-founds
an old institution on a rational basis, same is true for other social
institutions and customs.
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(A) and (R) are true, (R) is the correct explanation of (A)
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(A) is true but (R) is false
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Consider the following in relation to the Socialism and choose the correct code:
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DOTNEOG:

A. Socialism as a political movement always begins outside the system, rarely
begins from the inside, which means that at first it lacks institutional bases.
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B E085:069e906, BT S'HE DOG EPG0Y0E, 0T
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B. Socialists expect existing institutions to be hostile.
FAOQDED 2HYEST &) DOV F(865 08 SOLFONA) DN .
C. Socialism begins with no patronage; all it can hope to do is to persuade.
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Read the following in relation to theory of surplus value and choose the correct
code:

aDMHEN eV VTOTRE 022050 8§08 73R TIS0G HBAS AB
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A. The term ‘surplus value’ denotes the difference between labour and labour
power.

WD D' 9T DO 1) DO (Fo 48 0858 Ssersard))
AT OE
C. It is the source both of profit and of capital accumulation.
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C. Surplus value is produced no matter how long the working day is.
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D. The longer the working day, the more surplus value extracted.
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Read the following statements in relation to the concept of ‘dictatorship of
proletariat’ and choose the correct code:
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A. It implies the proletariat using the mechanisms of state violence to achieve its
class aims.

A |F0EIC0 55 3G O AFQOWETRE Tra3; o700 TN,
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B. State violence is used exactly the same way the aristocracy and bourgeoisie

used the state during their own periods of hegemony to pursue their class
needs
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C. It ‘withers away’ rather than abolishes itself because the old social order does

not necessarily give up easily.
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The ruler's main function in the Confucian state was:
8150008 0235065 aPORG (DTS



Options :
to rule according to VVajrayana Buddhism
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to educate and transform the people
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to protect the state ruthlessly at any cost
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to spread Buddhist culture in society
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Who among the following distinguished between ‘labour’ and "work'?
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According to the following, "hegemony is a relation, not of domination by means of
force, but of consent by means of political and ideological leadership. It is the
organisation of consent” :
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Frantz Fanon
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Karl Marx
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“Violence is a precondition to liberation. It operates in two directions: internal to
the colony among the colonizers and external in the formative conflict between the
colonized and the colonizer” — who among the following considered this in the
context European colonialism in the Third World?
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Mao Zedong
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The principle of “letting a hundred flowers’ bloom and a hundred schools of
thought contend” was advocated by:
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Gandbhi
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Which of the following terms are associated with John Rawls?
2806 IO 2SS TS IS @NHV0OOVDADND D?
A. The QOriginal Position
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B. The Veil of Ignorance
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C. Hegemonic Morality
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Read the following in relation to Dharmashastra and choose the correct code:
687 T8 H020H00 808 TE3RN IO SHBAD DT FED
JOTNTOG:

A. It upheld the ideal of an indissoluble union between state and society, and king
and subject.
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B. The King and Danda, the Spirit of Punishment (the power of sanction) were
both of divine creation.
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D. To disobey the King was not merely imprudent, it was dereliction of Dharma
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E. Taxes were the King’'s income and they can be earned as desired by the King.
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Assertion (A): Kautilya believed that it is the King's duty to seek material gain,
spiritual good and pleasures.
10835¢5ed (A): 2778 €330, esrses 28 D00 JHOCW escdomrerd T8 o
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Reason (R): Kautilya thinks that for a King to attain his goals must create wealth,
have armies and should conquer the kingdoms and enlarge the size

of his state.
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It is considered by the scholars that the following is intended to be a satire of
Vedic origin myths which undermines Vedic claims for the intrinsic superiority of
the Brahmins:
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Read the following in relation to Zia—Ul|-Barani's political ideals and choose the
correct code:
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A. The Sultan must desist from five mean qualities such as falsehood,
changeability, deception, wrathfulness and injustice.

DTS @00, STM), JPO0, 50 DO eomr §ON0 50¢3 N
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B. Differentiation between the determination in the enterprises of the government

and tyranny/despotism was necessary to command faith, fear and prestige
among his friends and foes.
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C. Barani apprehended the ruler as the curator of justice and described power and
authority as the two major components of efficient kingship.
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Read the following in relation to Kabir and choose the correct code:

EDB%0 H00H0D) 806 7¢3Q 1389508 HOSD DB FHEXD ot od:
A. Kabir was critical of traditional religions of any kind, be it Islam or
Hinduism.
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B. During his lifetime, Kabir was liked by orthodox forces of both Islam and
Hinduism.
©65Q) 28D B$50S, EDB Q0 SNOCKD SFOLT B0 TRNE) DR
F50OT OB
D. Sikhism embraced Kabir with great enthusiasm with their holy book Adi
Granth comprising more than five hundred sayings of Kabir.
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Who among the following considered that Hindu customs responsible for the
miserable plight of the widows and while Shastras had given different views in
regard to the child marriage but customs compelled them to oblige the reckless
patriarchy?

DeBOeAIYS AN EHVEBE 2T0T eTTPED PSR DB 23edg
DFTFOH H0D0HOD) FATeD 25 S @EEFOIFON AV I ¢3S,
ST N DBE ) DeSYr 28 EENB G0eroHA 80d 78S oI
21000 ?

Options :
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Read the following statements in relation to M. N. Roy and choose the

correct code:

M. N. 070D 8 H020000 1808 5 5ee) tICHI0R HBOW B TG

Dot 0&:

A. He strongly believed that the Marxian interpretation of history is defective
because it allowed no role to mental activity in the social process.
S5°02, JONS IO a7 58P0 €5 DETONROTE €G0SR eoedd (e
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B. He considered that ethical foundations of Marxism are relativistic and dogmatic
owing to an untenable psychological basis.
€96503) T8} 3230 Ted¥ HIrENED Ar RS oS HB0 DET0 eod
2PDOTICR, DOLNEOT) @8 e[TACIFHZ0 SR SPRE (a3
€500 ) OD.

D. He opined that subordination of humans to the factors of production is a
neutralization of his autonomy and creativity.
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Consider the following in relation to the Practical Vedanta or Vedantic socialism. of
Vivekananda and choose the correct code:
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A. Removal of poverty, eradication of illiteracy, restoration of human dignity and
freedom from fear

0E AEFON, ABE TS BT 10, 56 TETR) S RB0TIS0
SO0 250H0 oG DA

B. Availability of spiritual and secular knowledge to all, irrespective of their caste
and class

5000 DO SO SO0 BLOT® ©0DE e3r°5835 HOOI
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C. The ending of all monopolies, religious, economic, intellectual, social and
Cultural
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Consider the following statements on the types of non-violence of Gandhiji and

choose the correct code:

TORZ osrorr 8§50 2 &2 1800 a7 DBHEI0I0SE HBOM DB

FEN DONTOR:

A. Non-violence of the Brave is not adopted under compulsion and the basis of the
non-violence of the brave is morality and inner strength.
35555050 980X 2S0BOMT R 5EB0TIHCN, BE550600) e0erofdEy
SPG0 Desdes OO e0esGes OO

B. Non-violence based on Expediency is the result of weakness and helplessness
and not of moral conviction and is used for the fulfilment of selfish interests.
FreESs e300 RO DOardes, AN IJFADS HOB0, THE DB 50 5D,
28 7 30 (DTrBTO TR 500 GHEITA0DRH0D.

C. Non-violence of the Coward is the worst form of non-viclence, Gandhi would
prefer violence instead of accepting the non-violence of the coward.
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Which of the following are the steps advocated by Jayaprakash Narayan to
achieve his ideal of ‘Sampoorna Kranthi'?

23090(05%) PTPANED ) @58 1505300 "0 (503" ard oIR8
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A. The creation and organization of people’'s power
D& ¥§ BWE) Dgad SHOAH HOR
B. Total and revolutionary change in all aspects of public life
122 ZAB0S A @) ©0FOS HOFY HOOI DVTEHIER0S S7°%)
C. Development of people's government from the lower level
&) PO DOG (D D205 5 €923 @
D. Gradual withering away of the state
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According to Charles Ragin, what are the main goals of comparative research?
200 T°PAS D580, Aeare828 DBF S TIE) (DTS 5 en Dae3?
A. exploring diversity
IVFER) ©® FA0TIB0
B. interpreting cultural or historical significance
00938 B 0|58 (20D DID0TIB0
C. discovering the truth
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D. advancing theory
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Assertion (A): The governments cannot govern without a well-developed network
of state organs charged with advising political decision-makers about
different policy options and implementing policies once they have
been decided upon.
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Reason (R): The modern state invariably includes a vast array of ministries,
departments, agencies, bureaus, and other officiously titled
institutions whose purview may range from the domestic economy to
education, health, the environment, international trade, foreign
relations, and so on.
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(A) and (R) are true, (R) is the correct explanation of (A)
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(A) and (R) are true, but (R) is not the correct explanation of (A)
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(A) is true but (R) is false
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Political Regimes describe:
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A. Informal institutions
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B. Formal or the official form of government
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A regime based on an anti-liberal doctrine that glorifies the nation and advocates
a warrior state, led by an all-powerful leader, to whom the masses show
passionate commitment and submission is termed as:
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Social-democratic regime
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Semi-democratic regime
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Fascist regime
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Consider the following in relation to the roles of political parties in the
representative democracies and choose the correct code:
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A. Aggregating and articulating needs and problems as identified by members and
Supporters
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B. Balancing opposing demands and converting them into general policies
S B0 B0 TONCO BT T°E3R FrErO 00
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C. Channelling public opinion from citizens to government
DO NOG (DENTLRE |02 0N @000
D. Influencing judiciary and perpetuating judicial activism
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Read the following statements and choose the correct code:

o0& e 950G B OB §Hd ot 0dk:

A. Constitutions are not abstract designs, but practical machines that need careful
construction and engineering, and then to be judged by how effectively they
work in practice.
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B. There is no single constitutional design that is best, but a variety of models to
suit different conditions of social and economic circumstances.
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C. The constitution making process in ethnically mixed societies, it is needed a

form of ‘consensus’ democracy that protect the rights of minorities and give
them effective power to participate in government.
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Read the following statements:

08 s TICHH0EG:

A. Having a broader range of interests (human rights, minority groups, the
environment, peace) than most groups.
PP eI 0T DRYSHZN e3HFVEN (S7raed BN, Dardes
Q0TI N, DTG0 Fr0ed) EOR 00

B. A loose and more decentralised form of organisation than groups or parties —
they have been described as ‘networks of networks® and are based upon the
grass-roots participation of volunteers.
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C. Political methods that are often innovative and unconventional, involving
direct political action, community involvement and sometimes protest action.
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The above are the features of:
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New Social Movements
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Voluntary Organisations
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Elite theory is associated with the following:
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A. Samuel Huntington
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B. Robert Michels
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Read the following statements and choose the correct code:
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A. Realism is a theory that claims to explain the reality of international politics and
emphasises the constraints on politics that result from humankind’s egoistic
nature and the absence of a central authority above the state.
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B. For realists, the highest goal is the survival of the state, which explains why
states’ actions are judged according to the ethics of responsibility rather than
by moral principles.
TPRANETCRNOBY, T°235 DD 9TA e0edd5d) e ©F £0, O Tramie
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C. The key point in understanding realism is that the actions like diplomacy and

international legal actions are necessary tools of statecraft in the world and
leaders must use them in the national interest.
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Assertion (A): Constructivism is often said to simply state the obvious - that
actions, interactions and perceptions shape reality and reality is not
fixed, but rather subject to change.
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Reason (R): Our thoughts and actions literally construct international relations. It is
not only the distribution of material power, wealth and geographical

conditions that can explain state behaviour but also ideas, identities
and norms.
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According to the following approach, the concept of power is understood in the
context of a set of globalised relations of production demanding the transformation
of the nation-state, and depends on the combination of material elements and
ideas for acquiring legitimacy:
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Who among the following focused on deconstructing the distinctions between
what is considered international and what is considered personal, showing how
global politics impacts on and is shaped by the daily activities of men and women
—and in turn how these activities rest on gendered identities?

0T BONOTT NDONEFOIDT, S:8iedorr HOMHEF0IDTE a¢3 068
ST )50 B0, D0 TrSasEen Hsnew, L?_ge_}
20 PS5O R DEF (D20 TP TFOW, a°¢3 0T

Sl OVH0ErTIFT BrarR0d - & 8 sderaren ol (HloHD e
STSEHG GOEFOD @R 8060 FOS DI Sy OO0 E?

Options :

Wollstonecraft
SOFIE

Cynthia Enloe

, ¢ OB b 2ok

Hannah Arendt

; & Oor) e006

Christina Haines
BT S
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Read the following statements and choose the correct code:

80& 35D LICIH0R OO OB B dotHS 0k:
A. Classical realist locate the roots of international conflict and war in an imperfect

B.

C.

human nature while neo-realists maintain that its deep causes are found in the
anarchic international system.

OO FPRITCRED 0BT B0 0N O a0 T3E)
ST N0 7569 & 52750 HON0O), OV SASF-
TPRASTEDEN TR ' B ST T*IE 0STBOD 59530
&0 0N e2)[PODIBE D

Classical realists differentiate between status-quo powers and revisionist
powers while neorealism regards states as unitary actors.
SPOLDTTPOR PRI ORGP F50en OO BZVY F30e S
23650 8O S0ETH), ONB SOSF-TN IO T*FEe)a) ORI 0
oS80 ) HONHBN 0.

Classical realists over emphasised balance of power, while neo-realists laid
focus on collective security mechanisms.

APODTPOR PRI 48 Deeterfedcd o3 8) Tar ), @oNS Hair-
SPRITPCNED Had ST DT Sgad VEFH

. Neo-realists attempt to construct a more rigorous and scientific approach to the

study of international politics, while classical realism confine its analyses to
subjective valuations of international relations.

SOSP-R5aC0eN 0BT BOD T°BECITe e ;0HTRE B0
50D SHOOD FNAD VTR, SFFOROIETRS AN TS,
LO0NB ATOLITAN TFANTE0 TR DINEIO) e90SHT°BAD H0DOT®
AB0E), eTUF A DENIOBY DBMEB0 TROD.

Codes:
§Gen:

Options :

1. #

2. %

3.¢¥

A, B and C only
A, B 00D C S5t

A B, CandD
A, B, C6an D

A, B and D only
A, B 206050 D S5



A, C and D only
. A COa® D TS
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Read the following statements non-state actors in international relations and

choose the correct code:

9 0T°B0H DoOVOTOES TBLe5S FOE H00H0D 0B WD

23¢550B DOAW ABN FED J0NT0G:

A. To be considered an actor in world politics, the entity under consideration
needs to possess a degree of autonomy and influence rather than the legal
and state-related status of sovereignty.

1590 TradosirS” 2,8 $8m HOHSBoSDEOO0T, HOROIES &) Ho
(5 527”350 TB0E) TILDSND, T°235-0020HEH I T 50T
S 2OHOHBHEd HOAW [Hererdy EOA somd.

B. In today’'s world power and influence are no longer only determined by legal
status and hard power attributes, but also by the extent of an organization’s
network, by their perceived or recognized legitimacy and by their power to
mobilize resources.

B3 D00 #8, 15327650 (ANEHO TIEIIE TN VB SOOI 3G 636
OE T T 200 AT AoV, 52 DO TE) TEH5) HBE,
a0 1127 00 B (HO0IARN BV, 353D DHEBOT o0 #§
5T HrE® QGON0WDREA0H

Codes:

§&ew:

Options :

A only
A 53550

B i

1.

B only

Both A and B

, o A0CH) BOOGT



Meither A nor B

L % A NBAly B SOy 550
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The following is generally understood as an ability to dissuade a state from
embarking upon a course of action prejudicial to one’s vital security interests,
based on demonstrative capability?

& (806 TR |HBS FreY 50 escrEorT 2,50 S8R &S|t
IDTFBTOR 5 EOR0T G [BrS08)0NH0E Treid) ABO0D
DY LOTT AT TS0 @0 DT It )?

Options :

Diplomacy
| & TB50

Deterrence

- Alefnle

Power
CE]

Defence
4. - GEAE\EJ
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The International Criminal Court (ICC) founding treaty, called the Rome Statute,
grants the ICC jurisdiction over the following main crimes:
065305 (NS §°F (ICC) TN 200080, Fad 7550 Q) EVT D,
& 1208 (DT BT O ICC @35S HOOA Hoa™% TNO:
A. genocide
SNeRvlale
B. crimes against humanity
S1S3ER 508 55583080 RT e
C. war crimes
oG Soren
D. crime of aggression
es| 8 VS0
Codes:
§&ew:

Options :
A,B,CandD

A, B, C000» D
1.

A, B and C only
A, B 6050 C 555

A and B only
A BT B o357 5

R

A and C only
4 % AHDCID C AT
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The summary of the main issues of contention in the North-South dialogue is to be

found in:

&5-058 8 N0 DTN PO ©0F°e AFTr0F0 De3S S0

A. The Declaration of the Afro-Asian Conference/ Bandung Conference
3| £7F-e30 0D 578w 200N 29)00,) B80S

B. The Declaration of a New International Order (NIEO)
S8 o0 ) A OB (NIEO) &5TA8

C. The Programme of Action for the Establishment of this new order as adopted
by the Sixth Special Session of the General Assembly of the United Nations
08P iees 2050 @?}D@ OB0E) es8ed (DB D TP LT°
SITA0VDAN TS e300 WBE) W §N0 5orsdden SE5500

D. The Programme of Action of the Agenda-21, UN Conference on Sustainable
Development
& (8P &85 0P8 & & DB0E™-21, UN 55010m)) 80 0NN d
BN N0
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§&ew:

Options :
A, B and C only
A, B 200G C 57530

1.

A, B and D only
A, B 2000 D 57550

B, C and D only
B, C JH0a5w D Sresad

3. %

B and C only

B 0O C S5
4.9
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Who among the following are the members of the Shanghai Cooperation
Organisation (SCO)?
808 o0 Ao AT DO (SCO) DELEN Dedtd?
A. India
25340
B. Azerbaijan
eo23023270
C. Pakistan
RS
D. Kazakhstan
€238 S
Codes:
g&ew:

Options :

A, B and C only
A, B 00050 C Sedad

A, B and D only
A, B 50005 D S5

2. %

A, C and D only

3w A C 0O D Sr(ed3D

A and D only
L A B0 D Sredad
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Match the following Non-Aligned Movement (NAM) Summits (List-1) with the place
they were held (List-II):
808 TR-29BQ DT 00 (NAM) 3a2E03000 (rd)e-1) @) 38R

IDTFOS HOFO 0B (er)e-II):

List-l List-11
ari)Ee-l e )@l
(NAM Summit) (Place)
(NAM H30365) (V0)
a. The second NAM summit 1. Lusaka
D08 NAM cda2ed NS
b. The third NAM summit 2. Colombo
3037805 NAM 30265 F0d°
C. The fourth NAM summit 3. Cairo
a5 NAM 0265 jelo)
i The fifth NAM summit 4. Havana
3¢50 NAM ool 3¢ a3 "
5. Algiers
@@53
Options:
Options :
a-3 b4 c-1 d-2
1. ®

a-2 b-3 c5 d-1
®

L% a4 b1 5 d3

a-3 b-1 c¢5 d-2
4. ¢
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During whose visit, India and China signed a Declaration on Principles for
Relations and Comprehensive Cooperation and also mutually decided to appoint
Special Representatives (SRs) to explore the framework of a boundary settiement
from the political perspective?

D38 DB, 2B STFO DO T DODOTTEN DHOGIL e/
DFE0 FH0 APEro ) 2.8 (D58 oS50 T SHBOI T8k
5800 ADO0G DO HOTLBO ABNEY ([WeNIDFD €9 S0V 0S5
1930600 (SREW) AGHAOTTON &G IB0 QFonotHBET) H?

Options :

Prime Minister Atal Bihari Vajpayee’s visit to China in 2003

| v 20036 1D &S D36 e DN B® DG

President Hu Jintao’'s visit to India in 2006
200663 96525005 STV 20T 2rSSTT HEBEEdS

President Xi Jinping's visit to India in 2014
2014¢5° €9¢3550¢% a1 BAVON 2PSHTY DG5S

Prime Minister Narendra Modi's visit to China in 2015
4, % 201565 (D3 STOS Ird Bow DB
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Assertion (A): The Gujral Doctrine aimed at building a conflict-free cooperative
South Asia and for these neighbours in South Asia must dialogue
tirelessly over a long period until they have found mutually
acceptable solutions to their disputes and differences.

1983 (A): (D[2FD DTPOS0 M0cNPE Jored NoFrsS 38 e airad
QDB0H0 5 10T DERHOE B0 S8 oS D
ST .3 DTN SNOON VBT DG GO
eSS TIIH DD DOTLT ) DT 25350 AT N
(B0 oS yen 238,

Reason (R): The doctrine said that in dialogue, neighbours must treat one another
as equals, must not intervene in their domestic affairs, and must
respect one another’s territorial unity and integrity.

2e06Y) (R): 002FAeeS, sFEIDH 280555 NSPIOT FEoR), o°0
22065865 53T SE0 TDNEEFHAD HOCKH 2,40
1B 2E 205565 DO D5 TEOTOIR) D00
08

Options :
(A) and (R) are true, (R) is the correct explanation of (A)
o (A (R)BO® DANA™ STV, (R), (A)S0 DTS DadSed

(A) and (R) are true, but (R) is not the correct explanation of (A)
(A), (R) B0 DADAM BN, Q) (R) (A) H0 OB DIed 520

(A) is true but (R) is false
(A) 22 5 (R) &)

(A) is false but (R) is true
(A) ) 5% (R) 22
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Read the following statements in relation to India and BRICS and choose correct
code:

2rBSTI0 OO (2505 H020H0D 806 WE 0O S50E
HBOD BB FED Dot oG:

A. India’s notable contribution to BRICS is proposal of the New Development

Bank (NDB) which was put on the BRICS agenda at the 4th Summit hosted by
India in New Delhi in March 2012.

3763 201265 &rcAOS erESTF0 DBEFODS 45 HAWESES | HEY
DZ0ES TEIDANS s BdO 2063 237:05 (NDB) (2550 erdesmdo
OB0E) SN DeTSE0, 2.8 §D 292)039 0 (03T

B. India hosted the first Negotiation Meeting for taking the NDB initiative forward in
August 2012.

301 201265° NDB 15756363 SS006080 e3c03¢¢50 800 2rdesTdo Sncses
2550 NSTrRTR) G HETr0N0N.
C. The Agreement for setting up the Bank has been signed at the 6th Summit in
Brazil in July 2014.
205 DT 1ENH H0DO0HO0DN 2D IO 655 DS 23S 2014, (B2
S Hoes¥o BoHBod
D. The first President of the Bank was from India.

2308 T065¢3 96555068 S AT TRVE TOANTH
Codes:

gGen
Options :

A, B and C only

- A, B s0DO5 C S(¢had

A, B,CandD
A B, C

, v AB,C0CM D

A, B and D only
3 % A B OO D SSessh

B. C and D only
, B, CHdaA™ D S ST
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Match the following Constituent Assembly Committees/Sub-Committees (List-l)

with respective Chairmans (List-l1):

806 Trarsol 29 Ee3en/d-5eden (@rd)er-1) 02200 TEIOS

(erdde-1l) 236508508:

List-I
eri)ee-|
(Committee/Sub-Committee)
(E0e3/:525-520¢3)

a. Rules Committee
ErS ) 03

b. Provincial Constitution Committee
ErANANS Treson E0e3

E Minorities Sub-Committee

eoede DD EDES
d. Fundamental Rights Sub Committee

EFOE $T82 0 O Eed

Options:

Options :
v a3 b4 c1 d2

, % @2 b3 c5 d
;% a4 b1 c5 d3
, % a3 b1 c5 d2

List-1I
e )e-ll
(Chairman)

(BB2)

1. H.C. Mookherjee

2752, S
2. Acharya J.B. Kripalani
est3: J.B. Eyer)
3. Rajendra Prasad
o301 OB
4. Vallabhbhai Patel
320N IO
5. B.R. Ambedkar
B.R. @023¢5,.5

Question Number : 114 Question Id : 51714410921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



During the entire exercise of the Constituent Assembly of India the modus
operandi of Constituent Assembly according to Granville Austin was to follow any
of the following principles:
er3es Tars0f 25 BNB0 SO DN P &S |H5E0
2320 25 TBEY SPBLAG ea7e D0 80H Ao BT
@ 0ABOT I :
A. Secret voting during contestations
SFe30) DoHaHoeS B¢ 8.8300
B. The Principle of Accommodation
S3c0ed 7| €50
C. Decision-making by Consensus
DS ETON0 @ 5T° YOO B3NS 380
D. The Art of selection and Modification
506528 08 OO Sedh)
Codes:
§&ew:

Options :

A, B and C only
| % A BHDOM C S

B and C only
B 26050 C 57530

2. ®

2 =

.B,CandD
B, Condain D

3. %

B, C and D only
4 v B, CHOAM D e
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Assertion (A). A Constitution has to be a living thing, living not for one or two
generations but for succeeding generations of men and women.

1908352C96S (A): TPa20M0 @R eS0T domd), .43 B Bodh ST erdy

5°C30,65¢0a7°83 TP 5)DDEN SHOAR | N FHo EDO0D
&GO,

Reason (R): The provisions of the Indian Constitution are couched in general
terms, for the great generalities the Constitution have a content and
significance that vary from age to age and have, at the same time
transcendental continuity.

2re8ed (R): arBes TresofoS R A0den argrds HDEom
QAFROWIDT 0N, fFa) arrdeadderty Trarsofio 2.8 Dacird)
20O (a0 5 3OA &) O, 2O 2.8 5200 o0& ainiio
5550 HBOKW T HDN0HOS B30 HOH FIaTrA0 EOR
5000,

Options :
(A) and (R) are true, (R) is the correct explanation of (A)

Lo ALR) 00D DADETT BN, (R), (A)50 AT Daded

(A) and (R) are true, but (R) is not the correct explanation of (A)
(A), (R) B0 DADEM™ OB, 5% (R) (A) B OB DB 520

2. %

(A) is true but (R) is false

s x (A)2) TR (R) 89

(A) is false but (R) is true
L (A) ) 50 (R) 2.5
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In which one of the following cases, the Supreme Court considered the preamble
a key to open the mind of the Constitution makers and it is a guide to
interpretation of the provisions of the Constitution?

806 TS 2.5, a0 AT°2650) AN IR BOESTAE S0
de>50m HBHEI0TIDCA0E B T30S’ R D200
D00V EWE A AFGAG 50T G008 @A JPEITIN000?



Options :
Keshavananda Bharti vs. State of Kerala

. S0 2rdes vs. 3G TP 0
1.

K.C. Vasanth Kumar & Another vs State of Karnataka
, x KC. 008 5055 & 0T vs, W e T

Berubari Union and Exchange of Enclaves Case
v 250228 AOTFAANS HOCI ST SPOIG BTN

Indra Sawhney & Others vs. Union of India
4 % VO rar) & @¢38) vs. ALFACHN e VOO
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The Constitution of India lays down the following provisions, which though not
justiciable, are fundamental in governance of the country:
e3¢5 a0 808 D08N ATI0D0A), @) TLaHVA0 SN )e38,
53 oS EréNEDSV:

Options :

Fundamental Rights
ERAINEREVESY

Directive Principles of State Policy
5 v SDAE ArEren

Schedule Nine
3 % RATEO S0

Residuary Powers
4 % 9330 T W

Question Number : 118 Question Id : 51714410925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Read the following statements in relation to the basic structure doctrine/debate
and choose the correct code:
PGS AT (BT |RE)0) DTS 0/DTTRE H020H0D §od
ST EMEEI IS0 2HOAT DB FHD DOTHT 0!
A. This doctrine posits that certain fundamental principles and essential features
of the Constitution are beyond the reach of amendment by Parliament.
&: DT°0e50 TrarofoS D ) ErONE SrEren SHO0 ess5¥8E
OF EFeD arUD0EN T 50° DedBEI%) SDAN) 5%
B. The Supreme Court evolved this doctrine in the Kesavananda Bharati case
B0 2708 TS DDOFD & DT 0T SrFoHODOE
C. A big issue with the basic structure doctrine is that it's not clearly mentioned in
the Constitution.
ErGNE QTR VTP0TIE HoDORODN VG DD DaDEI0T) @b
T2 006 IR0 T, S2SS .
Codes:
§&ew:

Options :
A, BandC
| v ABXDBO™C

A and B only
A DO B Sresad

A and C only

;% ASOO™C 5075 20

B only
4, % BITSD
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Match the following Constituion Amendment Acts (List-1) with respective

Objectives (List-Il):

o,

8o Tra300 De3¢589 TIEPO (23°8)e&-1) D000 T (2378)e-I1)

23505 I0G:
List-I
eri)Ee-|
(Amendment Act)
(D308 WEO)

a. The 1st Amendment Act, 1951

103 RoddEa IO, 1951

b. The 9" Amendment Act, 1960

903 o0 TIELO, 1960

c. The 52" Amendment Act, 1985
5205 da388a 980, 1985

d. The 1015t Amendment Act, 2016.

1015 Rdad88 W0, 2016

Options:

Options :
| % a3 b4 c1 d2

5 wa'z b-3 ¢4 d-1

;v ad b1 c5 d3

a-1 b4 c2 d-3

4, %

List-1I
ere)@-l
(Objective)

(5 s0)

P ) |

1. Settled certain boundary disputes
between the Governments of
India and Pakistan

2red, arSim G TR 0D
PO 000000

2. The acquiring of territories by India
and transfer of certain territories to
Bangladesh
erGe5TF0 DOTHE 202 TedD
£SO D0 HBA DO
PANRFALIRLICD! 268

3. Goods and Services Taxes
S0 EN DO Wde D) en
(GST)

4. Securing the constitutional validity of
zamindari abolition laws

200 S BEren Trarsod
TIEV 2NN SO0

5. Political defections
Tr2380D DT 0NOEN
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Consider the following in relation to the Committee on Estimates and choose the
correct code:
05T $20¢38 H0220800 06 ¢339 HBHF0I0A HBOW NBS &
DOtNE0&:
A. It consists of 30 Members
2060 30 HOE DN GOEFD
B. The members are elected by both the Lok Sabha and Rajya Sabha
HEDzeN 55525 OO T35S BoB0E3 T sT° o)) StEr D
C. A Minister is not eligible for election to this Committee
0038 &1 Ee38 D ETHE eotied TR
D. The term of the Committee is five years
EE3 HADFO0 DN DOSES TN
Codes:
gGen
Options :
A, B and C only
A, B 005 C 5550

1. %

A and B only

, x A DO B Iy

A and C only
- A OO C Ar|edad

A, C and D only

A, C 00050 D oS3ehadd
4. %
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The Government of India has set up the National Mission for Justice Delivery and

Legal Reforms in August, 2011 with the following objectives:

eEeh 1552506520 esel), 201165° & (B0 TS Dt WAS HE 28VD

B350 208 DS Br523 DT 1EN TOA:

A. To study and recommend increasing the strength of judges in the Supreme
Court and certain High Courts
QDO HBHAW FA) FTDROES 050007 N0 D DOV
@¢5 £ A0 T ) TBODEOo

B. Increasing access and reducing delays and arrears in the system
OIPTIN DOTIO HBOI VNN 2TBPEeD HO0I S0V
e5N0Ticso

C. Enhancing accountability through structural changes and by setting
performance standards and capacities
QTP EF 55 ST TPET DD [DeSTPETEN DAL DT LD &

DONE0 TEET° B LN OSHTR), DOTFOHOTIE0
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Options :
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Consider the following in relation to the Union Council of Ministers and choose the

correct code:

BoLL SDoEe 0B Ho0HOD 1Bod a3 HOH30Iod HBOW

AT FED DONTOR:

A. The Council of Ministers is headed by the Prime Minister
300183 20O DTHN0(E Tehyed 208 E0ENOE

B. It aids and advises the President in exercise of his/her functions
QO T ROBE 965/ DN A 000 HsFANO TROE
OO DO VO

C. The Prime Minister is appointed by the President, who also appoints other
ministers on the advice of Prime Minister
[TPI0(ER) TP a2eded IO, €969a/ESe) (DTN eI
BB DS DO EFTE DOV D

D. The Council of Ministers is collectively responsible to the Parliament
D0 DO aPOTDOLNED DAV T¢I oIar O

Codes:

g&ew:

Options :

A B, CandD
| x A, B.C 3808 D

A, B and C only
- A, B 0005 C ISPt

A, B and D only

- A, B 2006050 D Srehad

A, C and D only
. A C00aD 33753

Question Number : 123 Question Id : 51714410930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The Governor is the appointing authority in respect of the following authorities:
806 @d5H®OE 00O G106 VOIS eadsd:
A. Advocate General
¢8558 BAGSO
B. The Chairman and Members of the Human Rights Commission
50565 B0 EDNAS TS B0 Hdezen
C. The Chairmans of the State Corporations
Ol 520 )02 T
D. The State Election Commissioner
orlad ) 80 EAND
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§Gew:

Options :
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A, B <D0 C Seha

: CandD

A; B,
5 % A, B, C000w D
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. BC DO D 5753
4.
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Read the following statements in relation to the Inter-State Council and choose the
correct code:

20e35-0°| ) «00BEE Ho20H0N) 808 LD tIN0EG OO OB
FED DOHE0G:

A. The Prime Minister is the Chairman of the Inter-State Council and the members
are the Chief Ministers of all the States and Union Territories with Assembly.

OO0 €8 e0056-T0 ) NOGRE) TEIM OO Tl QNP
o O[30 e0) e—_ﬁ:}c@ &) @A) SoHarde |P0TPe) S0P O(BeN
A gen.
B. It discusses matters of common interest to some or all States or Union to one
or more States.

28 §Q) B @) T°lales B COrdoHod 2,583 B @050
80205 Tl 503023 38 &89 VAT 90 X0 H

C. It investigates and advise on potential disputes on the roles of Governors of the
States.

2O Tl o388 le53) D058 DTN DOT OO SHBOSD
HOTE QN0A.
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Options :

A and B only

A 2B B 57550
1.

A, B and C only
A, B 20005 C 507530

B and C only
B 258050 C 5e550

A, BandC
A, B DOam C
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Consider the following statements with reference to the Election Commission of

India (ECI) and choose the correct code:

2865 )80 D00 (ECIS 50200500 1806 a°im 10 HBfedoiod

DO DB TR O oE:

A. Part XV of the Indian constitution deals with the establishment of the ECI
er8es Trars0loS R XV 260 ECI 0380 H0220800DS8E

B. It was made a multi-member body by The Representation of the People
(Amendment) Act, 1996

QO (DB R (689) 940, 1996 T0°5T° eTVF-00EIE DOQTT
ROV WATR TSN

C. The Chief Election Commissioner can be removed from office only through a
process of removal similar to that of a Supreme Court judge by Parliament.

T D)5 BT arED0EN T°5T0° A0S T°s00r0R
SOROD 1DEOH T 50° SN DD DOB SOA0TINTN).
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g &ew:

Options :

A and B only
A OO B S|eban

B only
) % SN

A and C only

A HOOW C (b
3.

A, Band C

A, B nbBaiw C
4, %
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The Appellate jurisdiction of the Supreme Court includes:
D0 §°0 TB0E), 0B 0OTE HOOS QD &wr) oN:
A. Cases involving interpretation of the Constitution
02300 DadGEAB 02200 Saen
B. Civil cases, irrespective of any Constitutional question
DS TEW, ) T°2PL0HDBE TG (DF) & D000 Birow
C. Criminal cases, irrespective of any Constitutional question
BNSS TN, &) T*a0ANGENS (D9) 8 D000 SO
D. Cases involving disputes between the Central and State governments
B0(E5, T a) [2EDT 563 sDEIE DT Do20HO0DN Baew
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Options :

A, B and C only

. A, B SO0 C S5e|ehad
1.

B, C and D only
B, C 2005w D S7eb5a

A B, CandD
A, B,

% AB.CX38amD
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B 250805 C 550530
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Read the following statements and choose the correct code:

0O IO S0 NOA ABN FHND Dot o&:

A. Under the Constitution, there is no bar to the appointment of a person from
outside the Parliament as a Minister.
o200 (D5°E0, arSTHoen Jend® 55 SHoEBT AN OIS
DENI0E3 eaB08 Bh

B. A Minister who for a period of six consecutive months is not a member of either
House of Parliament shall at the expiration of that period cease to be a Minister.

SEDNITT €35 TO® ared aPG0EN &250DH H2IOES H2D LD TR DO e
5556 ANA HDDASTFE O IS §S’ yerdh.

Codes:

§Gen:

Options :

A only
PR

B only
B JSo¢b

Both A and B

A 00k B Bodar
3.¥

MNeither A nor B
A DOON DOGT 5%

4, %
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The functions of a Municipal Corporation as laid down in the Twelfth Schedule of
the Constitution include:

T2 0005 R HTL0 TS ELHDAES SNAINS FIBAS
D CNED:
A. Slum improvement and upgradation
S008¢%e) @DSHD, SDEGR
B. Roads and bridges
D, S50Bsen
C. Urban poverty alleviation
D669 DSBE DEFS
D. Cattle ponds; prevention of cruelty to animals
DHH TEHHE; 2BOAHS D (HrSer:d) ATOO0LB0
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§°&en

Options :

A B CandD

v A/B.C0A® D

A, B and C only
A, B B0 C S57eha

2. %

A, B and D only

A, B 200G D 5750
3. %

A, C and D only

A, C D0 D oS edad
4. %

Question Number : 129 Question Id : 51714410936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the powers of the National Commission for Scheduled
Castes (NCSC)?

806 ¢3S aredaD TS Hoere) NS (NCSC) @9HOSTeN N?

A. Summoning and enforcing the attendance of any person from any part of India
and examining him/her on oath
PESATIOS R o [2P0H0 N0 ONT® JIDT® OO0, a7t
ST, €00 TDONCEO eSO D) AT
H88 03¢0

B. Requiring the discovery and production of any documents

DB 95BN HEPO EdFHE0 SHBASY 56538 ToNEOo

C. Requisitioning any record from the courts excluding the Supreme Court and

High Courts

IDOEE, TFEDOD MSFoNoD §Phe) oB AT B
e23:0025¢0

D. Issuing summons/communications for the examination of witnesses and
documentation

2500 DTS TR0 HeA/ETr TN 2370 TG0, TEHEHOTIAS
Codes:
§&en:

Options :

3.

4.

A, B and C only
A, B 200050 C JIredad

A, B and D only

A, B 0050 D 5550
o

A, C and D only
A, C D0A5D D ST(eha

®
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Read the following statements regarding India’s development policy and choose
the correct code:

2rG5RF 280390 DTTRE HoDOROD 80 T WO IS0 HOGWL
D0 BB DotHFoR

A. The architecture of India’'s post-colonial development policy framework was
inspired by the Japanese model of development.

2S5 TH0 T3NE) 30100 @H0e5S e98)5)0 DTS D00} DTIEI0 2T
223)a39)0 ST OG |88 rodod.

B. India’s green revolution was made possible through the Government's
concerted effort and investment in agricultural research and extension services.

S353RT A% DOTEIDS SHOAH DVGED PO’ 152065 50 TINE) e EHox
DO VEPDA T 50" 2 ESTF o0 DadoIO 0D,
C. The New Economic Policies from 1991 resulted in the complete paradigm shift

in policymaking emphasizing the liberalization and greater integration with the
world economy.

1991 OB SIS F5 308 Daren DEDESE HBAW 1HHOTH e3d¥
383D DB DEEBEIBY BB DTN Eroge 1S o
ST 530050 TP OSFQW.

Codes:
g&5en
Options :

A.BandC
A B dosn C

1. ®

A and B only
A SHOA5W B Sr|ehad

A and C only
A SHB0% C S

B and C only

, v BDOCD C SV
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Assertion (A): The complex social changes and the imbrications of various forces,
factors and events in this modern world have rendered the process
of production and recognition of identities problematic.

OB (A): & e3¢0DE (DH0TIOES” HOEATONS wTa5r23E SN, D
#5000, SPUSPeN, 0NN DEVEN, HO0JO Ged ) ¢
oDBA D80 1DIEANAD DTS E0T STFT° JOW.

Reason (R): The rise of lower castes, religious identities, linguistic groups and

ethnic conflicts have contributed to the significance of identity politics
in India.

Sretod) (R): @08eiD Soered IT5e88550, oNedS om0 (HB0en, ear
HATTEEN SHOCKD 27 JETPeew PG RIoS (HO0Yy
T23805P 0 BTN EHEY EaTINEOW.

Options :

(A) and (R) are true, (R) is the correct explanation of (A)

v (A (R) B0C AR DB, (R), (A)50 ST Daddea

(A) and (R) are true, but (R) is not the correct explanation of (A)
(A), (R) B0 DADAM™ OB, 52 (R) (A) B0 OB DB 5260

2. ®

(A) is true but (R) is false

. (A) 2,530 5% (R) €839

(A) is false but (R) is true
(A) 553 5% (R) 2,83
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Read the following statements and choose the correct code:

80O WD 500G SHOA DTS §BD JotHE 0!
A. The Indian Parliament passed three agriculture reform bills concerning the
pricing, sale, and storage in September 2020.

28¢5 PG T0E P00 202065 55, DEOHO SHBOW A £¥
DOVOHO0TIR AT 3§ O D0 B0 2)EN D eJTFRON0A.

B. The new laws deregulated and privatized India’s agrarian economy and allowed

private corporations to purchase crops at market prices and engage in contract
farming.

565 LIETPEN PG STF 0329eT 0D €308 5329000 eoaH oS EBOTAW,
| DIE3EB0To0, T HEOH HoLIOHK Fffen DANTRE, 2,008
5559 0N0EY TS ITRE DS & BN e90HBOTOW.

C. The agitating farmers felt that the likely outcome of these laws would be the

collapse of the public agricultural system, which would jeopardize small
farmers’ livelihood and the nation’s food security.

&2 8T DOSOM D265 2 03 10IrTPOD o3I 2IBI0 29050, @D
DD Bewe 2SS TOE, BFO €355 2516850 Q) EORNOEA 08 FS
DO Tedden 200t

D. In response to the farmers movement, Prime Minister Modi acquiesced to the
farmers’ demands and announced the repeal of the three farm laws in
November 2021.

T &5:STRE [(HBD 0SS, (DR o Beed BP0t
290HEB0TT, 950208 20216F s0T°CH 8355 OD TIEPEID BED
TS W 1HEESoTr.
Codes:
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A B, CandD

A, B, C00ain D
1.v

A, B and C only
A, B 20005 C S5

B, C and D only
B, C 2005 D 5755

B and C only
B 0O C St
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Read the following statements and choose the correct code:
08 e 950G DBA OB B Dot 0dk:

A. Social action can be directed against global, universal issues or localised
issues.

ArS522E L8800, ARG £S5 DD sen B TAEEBOD D DBy
5:BBE0M™ ATF0TI22¢00E

B. To achieve sustained results out of social action, involvement of the people in
the goals and strategies is important.

A2 E 9658 Q0G VBTN HOTO AFOOWERE, OFLeN SHBAD
FreeFe S (D23 (HDOHO SVALO0.

C. Social action has elements of conflict, the resolution of which may not
always be through peaceful and totally non-violent means.
3228 2985 D0 Feadd N0DOBOVN 0T S5OR G008, ared
DL G0 DOYIEF T03 AN SO, 0T SrJe) 0T
GOGEFITN)

D. Narmada Bachao Andholan was a social action movement.

BT DT SOEON 2.8 ArSrRE SPUr G B56I2.00.
Codes:

§Gew:
Options :

A, B and C only
A, B 20050 C Sehad
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A HBOW B 5530
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A, B, CandD
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Demand for the creation of new states have been regular feature of the Indian
politics. Match the following separate state demands (List-l) with respective states
(List-11):

§°¢5 TP Al DT )EN DOTOR AST08 erdes Toioired o8 e
0040. 808 19B:8 T3 AIT0BON (2378)&r-1) Q020 T°|areded
(er)e-1l) 23e3080508:

List-l List-1
el e g el
(Separate State Demand) (State)
(0858 TR AITr0B) (T°%20)
a. Coorg 1. Uttar Pradesh
Shle SAS (007
b. Mithilanchal 2. Bihar
WHEFOHS D6
c. Saurashtra 3. Maharashtra
00 ) a0 T )
d. Braj Pradesh 4. Gujarat
12 |D33 oS
5. Karnataka
Options:
aJoaBen

Options :
% @3 b5 c1 d4

a-2 b-4 c-5 d-1
a4 b-1 c2 d-3

a-5 b-2 c4 d-1

\'.?’
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Which one of the following is not a tribal revolt?
800 are3eY DB B2 BEHaren S

Options :

Tamar revolt
¢5o00 escdiharén

1. ®
Awadh revolt

) e e3uiharen
Bhil revolt

\ 2O eadHaren
Munda revolt

4% SO e ciharen
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Which one of the following is not a characteristic of Public Administration?
52806 73S HDE 9@ VA TwE) 9580 WS O?

Options :
It is part of executive branch of government
A (206§ SEsT 578 TS 1Mo

It is related with the activities of the state

5 % 20 Tr3E G885 Qo0

It controls the political power
L 30 ore38ad 482 oHoBNoO

It carries out the public policies
4, % A0 DDE FOVOD AW
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According to Ramesh Arora the elements of comparative Public Administration
include:

D
A.

B.
C.

D.

HR @8 T D530 eeared 8 HET @ WA TBwE) e0F°ew:

Cross cultural Comparison
0040 0} )38 FOS
Developmental Dimensions
@) DDG Searen
Ecological perspective

DT 08 D8 B0

Goal orientation

of ¢ 583
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A B, CandD
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Frank Marini book ‘Towards a new Public Administration’ emphasis on the
following themes:

1GTOS SO SHVE0 ‘05D Koes HES 9B VAR &2 1800 HD)
GE3N00:

A

B.

C.

B E

o

Stress on bureaucratic, hierarchical and technical aspects

€63 ST 50308, 18a5ma0iies <HBO5Y w03l esozrer 3 ToHEGE
Stress on social equity

2228 D3rades 03 To|HEG

Socially conscious and client-oriented view

37228 D)9 SO0 Son0-es5O6b DE £

Stress on Decentralization of administrative process

DO (DE0H DJ0|HEGD SodES

Codes:

SGew:
Options :

1.

2. ®

3.¢

4, ®
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The emergence of the following is considered as a critic of traditional approach of

Public Administration which was "Weberian', 'Bureaucratic':
806 0 ST YN0 'TBOOHE', ' 5°¢35' 90 HE 0B WAS
G30E) a0 TP0NE DTPN0 QoD DB HedodcHA0H

Options :



Systems Theory

Organisation Theory
N0R W00

Hierarchical Theory
Bdraied DT 00

New Public Management

4w O HEE DTS DhodH
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According to Mary Parker Follett one of the following is not a way of resolving a
conflict in organisation:

08 ;8.0 FBE 195750, 80O 73S’ 2,583 Do’ HosH T
0020008 S0 °Ch:;

Options :

Compromise

SPOLEF 0

Domination
, % TTOTVAS

Integration
5 % ROBTAS

Fragmentation
4 v EFTROVAS
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Who among the following considered that ‘authority’ as a form of communication?
806 0 DN €3 'ASTR) ENrINDAS L 2.8 Erdorr
B30T H?

Options :

Chester Bernard

v =06 3oy 0

Mohit Battacharya
) & DS DEFTSS

Woodro Wilson
3 D"@"L_S 33‘1]&5

Max Weber
4 % o°5) 320
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Assertion (A): A society's well-being depends on ensuring that all its members feel
that they have a stake in it and do not feel excluded from the
mainstream of society.

IDSBFEHS (A): De3230 TJEY 1FADN) TRETR HEVFOOET 5050
S TP GO SO DAPB0 TFNEE (DTS (Ded0e3
DO RTFON OB 2N0LIBOT® TITFNE B0

esTP3G G005

Reason (R): Good governance requires mediation of the different interests in
society to reach a broad consensus in society on what is in the best
interest of the whole community and how this can be achieved.

27559 (R): INSB0 D528 DA 0N BNOA HBHAND A der
OO0 ®F TR Ndrs0S DNYh DSEFOITY
TOOBTAE HIPBOS'Q DEIN) HNDTFBTe 0655865 2o
0T @308 0.

Options :

(A) and (R) are true, (R) is the correct explanation of (A)
L« (A), (R) B0 DAIGT OB, (R), (A)B0 OB Dedtied



(A) and (R) are true, but (R) is not the correct explanation of (A)
(A), (R) BOCH DADAT ABAT, 52 (R) (A) 50 OB DedSed 57N

2. ®

(A) is true but (R) is false

L x (A)230) 5 (R) &)

(A) is false but (R) is true

4 % (A) S35 (R) 2))
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Enhancing both internal and external civil service accountability requires:
@05 eh DO 237 DG W 2BIPNTOBSN0 TOR0E3R EHHDGLIG0
9o a30edo):
A. Improved information systems and accountability for inputs

DTS ST 635650 D DO VANEH 22N OS50
B. Better audit and face-to-face meetings with stakeholder groups

DOOTD e3BE5 SHBAD T EFTTEE DTS S0GTAND) TP SF°eD
C. Publishing budget summaries in a form accessible to the public

2T T O0FTON [DBOE ©00ereneS GO P06 (HTHO0TIG0
D. A stronger performance evaluation system and scrutiny

22O DB ST E0ES 038630 DO HOFOS
Codes:
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Options :

A.B,CandD
L@ A, B.Condci» D

A, B and C only
A, B SO0 C Seh=d

A, B and D only
A, B 0040 D 55D
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B and D only
B c0005%0 D Sr(ebad
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Question Number : 144 Question Id : 51714410951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

As per the Consumer Protection Act, 2019, the rights of the consumers include:
AT HTTOe) 85 £ L0, 2019 10500, DRI JP80)e0:

A. To be protected against the marketing of goods, products or services which are
hazardous to life and property

PO, e 55 EDNOT Se Y en, tsed e en B VIO S0 e300
oG S odamd

B. To be informed about the quality, quantity, potency, purity, standard and price
of goods, products or services

SN, credIehen B eI TrEes, HDOSTE0, 48, D568,
D320, Y HOHOD BOONBOANEO

C. To seek replacement or return of goods and service if unsatisfied in three
Months

S0ret TOES H06532) TOGENS 509D, DI S0 1B TADEO
Broe SO @S 5C80

E. To seek redressal against unfair trade practice or restrictive trade practices or
unscrupulous exploitation of consumers

@R 0DVN TPEF S @250 B AGI0G aredes: ey B

DATTFHT O ANLDEIS EDRE S:BTEor HDOFG0 §B5cs0
Codes:
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A, B and C only
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A, B and D only
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A, C and D only
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Question Number : 145 Question Id : 51714410952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The Lokpal and Lokayuktas Bill, 2011 was passed by the Parliament in the year:
S'ErS HOCSWL S’ aing W, 2011 PSR 0EN ST D0 80!

Options :
| % 2011

, x 2012

, » 2013

, » 2014

Question Number : 146 Question Id : 51714410953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a function of Panchayats?
20 73 HOTONBO DO STIS DO?
Options :

Representative
e 50

1. %

Regulatory and administrative
BHsBED O B WEIS

Judicial and law and order
" 0 s00 NOC Froed | tdeden



Service or Developmental
o O D @Dy

Question Number : 147 Question Id : 51714410954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In order to promote e-Governance in a holistic manner, various policy initiatives
and projects have been undertaken to develop core and support infrastructure.
The following are part of it:

B-11658 5360 DD DSBS’ 1865 157 0TS, 56 985598 SHOAK
oTOE SCRTATOED DD DG DT SE5IESTen SHOCW (arafen
BT ow. 800 TS erio:
A. State Data Centres (SDCs)
O°4) G3E° BO(TPen (SDCew)
B. State Wide Area Networks (S.W.A.N)
W 36 OAF TEFS5600 (S.W.AN)
C. Village Wide Area Networks (V.W.A. N)
DS B DOAST TEDHDT e (V.W.A. N)
D. Common Services Centres (CSCs)
G e So|mren (CSCew)
Codes:
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A B, CandD
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A, B and D only
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A, C and D only
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Question Number : 148 Question Id : 51714410955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a part of the NITI Aayog's gamut of activities:
808 3¢365° D& NITI 3370 e s8erare (36365 arifo o

Options :
Policy and Programme Framework
DT'I0 DDA (8T e D)

Competitive Federalism
S0IE3 G0

Meonitoring and Evaluation
DBFDEE DHOAD STFEF OO

Think Tank, and Knowledge and Innovation Hub
A0S €305, DO TrBE @08 A ) IAS 85

Question Number : 149 Question Id : 51714410956 Question Type : MCQ Option Shuffling : No Is
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Consider the following in relation to the coverage and entitlement under National
Food Security Act (NFSA):

2P0 &G 25105 98)0 (NFSA) 800 §55825 OO0 e9dehdy 00O
806 °¢3Q HOMSoI0k:

A. Covers upto 75% of the rural population and 50% of the urban population under
Antyodaya Anna Yojana (AAY)

003500 95 T3S (AAY) B0 |Traded 3 ereS” 75% DO HEE
235723’ 50% 23550 500H.

B. AAY households are entitled to 35 kg of foodgrains per family per month
AAY S0E0027e0 (63 H0en02rAE Bedy 35 85°e) e3sF S e so% eodhen

C. State-wise coverage under NFSA was determined by using the NSS
Household Consumption Survey data
NFSA 806 T° |5l a0 85325 NSS (s QT O3 5 Berad
E5a)03PA0IB0 TP ST° AQONOVDER0H

D. The State Governments shall identify the households under AAY as per
guidelines applicable
OrLa (9920E° sen S00T Srdd see (H5eB0 AAY 8065 Boenoarercd
H8owr®
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Read the following statements and choose the correct code:
E0& WD IS0 B HOAD OB B Do 0!

A. Social audit through its systematic process allows the civil society to identify the

gap between the desired and actual impact of a project/programme/service
implemented
DSr23E QY) T (FHDODS (HDBADH @ gor DS DSE0 @Hen
DODDAN (GPBY/EFITe/ad CINE) SN DO a6 (2)2TeI0
oNRE @0SBTR) MHOOVTETAE @S NOA.

B. Social audit allows people to enforce accountability and transparency in
government service delivery

19325065 ¢ IO HONEFS” 235720 OSSO SOOI B JES evshren

DONTRE Areirress ) (BN ©rNBNO
C. Social audit is implemented in the MGNREGA
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